(T a) R !
B =
= & hk W
[BREERE]
FENFE 2 By [E@EBER] -
(Hfr - [
nE ERE ] kB (EHOAR)
#RB | ¥nm RUEMEAE - B AR ETL - gﬁgng
we (%) mEaak | ok | 2mr | cener | Son | gaemk | RewAR | spEe | ossr | Ase
H30.4.2) 1 [Hvysf (ERA) 5,736 5ul 2. 867 2,867 0 0 ] 0 0 0 ol
Ho.4.2l 2 lisSy HEAR QR 2,199 5n| 1,064 0 0 0 0 0 0 1,064 uI
H0.4.2). 8 [SHEEEAE (2AH) 6,503 zsl 1,625 9 0 0 0 0 0 1.625 ul
H30.4.2)- 4 [EBIEMAH (36-2667) (2R 4,374 5o| 2,187 of 0 0 0 0 of - 2.187 ul
B 43| 5 |kilidS (1A. 2AM . 3234 80 1,617 0 0 0 0 0 1,817 0 ol
H30.4.10| & |MEEmAE - 2B 1.638| sof g18 ol 0 0 0 0 0 18 0
W — LR |
Hso.4.16| 7 (H3041 7 311 43 7.500] 100 7,500 0 0 0 0 7,500 0 i 0
Ho0.4.20 8 BERENRR (SRS 3,000 100§ 3, 000 0 0 0 0 3,000 0 0 0
Hid. 200 & [NJasT)ud—=0of Loy 8,683} 50 3,331 0 0 0 0 0 0 3.331 UI
Hio.4.21) 10 |#F#HEA (A 3,090| 100 3, osnl ¢ 0 0 0 3,000 0 of ol
Hio.4.23( 11 |BEEE (4A) 4812 50 2, 4us| 0 al 0 0 0 2,408 0 ol
Hio & 24| 12 |EBA{L (@150%85R) 1,200 100 -r,zonl 0 o 0 0 1,200 9 0 oI
Hio. 4, 24| 13 [EEAML (@150 <43 goo| 100 sool 0 0 0 0 600 0 0 oI
Hoo. 4. 26| 14 {ESEMEFRM (26-0i116) (3R 6.904| 25 1,476 0 0 0 0 0 0 1.476 nl
SR (@130 x38) -

H30. 44| 15 (478, 4711 4/18) g0 100 390] 0 o 0 0 300 0 0 0

A o| s&770 33,171 2,867 0 ! 0 16, 780 4,073 10, 501 0

" 0 56,770 33,1 2,867 0 [ 0 15, 780 4,023 10,501 Oi




(FfH=4)
L
® & B =
] (BRREHE]
ER30E EAS [LART]
(Bifr - M)
R E EE HRRE (TUDAR
zAE |EZE= RISHIAE « gk WAk | Eem BHZmX
®E (33 EERER | FER s | manwn | SRR | gunnn | meman | seme | sEx | aenm
‘ o b1 1 |isSy MERHE GRS 2120 B 1,064 0 0 0 0 0 0 1,084 0
H0. 6.1 2 |{EHEEERE 3AM 6,614 25 1. 678] 0 0 0 0 0 0 1,628 0
H.5.1p 3 (EEMAM (36-2561) BAD) 4954 50 2.41) 0 0 0 0 0 0 2.471 of
W52 4 |HUyqt (RA) 9,385 5] 4, 602 4,602 0 0 0 0 0 o
a - _ L :
H0.5.2[ 5 IR 29548 1 0~ HAEIHATH) 80, 806 501 40, 403 0 0 0 0 0 40, 403 of
H30.5. 10| 6 |EmaEEEL - (384 2.421] 50 1, 210) 0 0 0 0 0 1.210 0
U A G iR ) .
H0.5.16f 7 (HA0EAH ~ H3 3R 3. 700  100] 3.700 0 0 0 3,700 0 0 0
o5 6| 5 |lEE® 150 1ooi s 0 0 0 150| 0 0 q
H0.5. 18] ¢ |Z&HFHM (1AM 3.000 loul 3. uuul- 0 0 0 3,000 0 0| ol
HO.E21) 0 |[MFEWE A 3.090| mn! 3, oenl 0 0 0 0 3,090 0 0 ol
BEAEAERE] TfLJREE ' i
H30.6.72| #1 Hi~=xw | 10.680( 100 10,880] 10, 6RO 0 0 0 0 0 0 0
EE (EMEH) ~EF
H30.6. 24 12 |E&RMK (A 4,366 50 2.183 0 0 0 0 2 183 0 oI
HI0.5.28( 13 JEIESHMAHE (360116 (4B 5.968] 25 1,492} 0 0 0 0 0 1,402 ol
FEAMER ICF DI RHE o1 0 o 8
H30.6.20| 14 EE~CER® 10,810  1co] 10.810 10, 0 0 0 0 0
H30.5.31f 15 [irt RERAY 435 2,120 50} 1,064 0 ¢ 0 0 0 1,084 ol
Hi0.6.31| 16 (M BIEERH (4B 6.460) 26 1,616 0 0 0 0 0 0 1,615 o‘
H0.5.31 17 [EEEEHAHE (36-2657) (4A4N) 4.483| 50 2,241 0 0 0 0 ¢ 0 2. 241 0




(D

L

(FiTHER4)
D o=
= i & &
[BAERF#]
ERINE 5 538 [FEBEM
(H{r - )
| P R FRKE (FUOHED :
4R |=um RIFEIEME - Bk A it gﬁgmsﬁ
5 ) mEmER | R adR | seiwk | BA0R | wasnn | wemAx | wavR | sER AHR
H30.6.31] — |&iR&UAE GER) 33, (1 0 0 0 0 0 0 0
Bt 3| 161048 91.499] 26, 182 3 o 9, 040 2,188] 53004 0
P 33.171| 217815 124,670 29,040 o of 25 720 6.208] 63,605 o




(mfrEEst 4) ' \

Lo

o -

B Ok W
[BHRE%]
TRENE 6 A% ' [ERESR]
' (B - 1)
e E 2723 ERRE (ESOMR
#AE |%@m RIS - g RAB | FuE HEZNR
i ) wETER | wER Mg | el gggg RAERR | REMAR | BHHR | wER ARR
H0.6.3( 1 kiiH<d: (3A. 434 s T I 0 0 0 0 0 0 0 1,648 0 0
H3C.6.4| 2 |HWwULE (KA ' 19, 236 5u| o8 saal 3,618 0 0 ] 0 0 0 0 9 0
M e 3 [EEERY -4)515;.\ 1, 683} 5o| 846' 0 0 0 0 0 ¢ 0 0 846 0
K0.6.12) 4 . [EFRAE 130 wol 130) 0 0 0 of 0 0 130 0 of 0
H0.6.12| & [EER (2150386 450 IOOl 450] 0 i} 0 o ) 0 450 0 0 fi
H3o.6.18) & [drRALE 150 mul 150) o [} 0 i} 0 0 150 0 o of
0621 7 |ESEE GAM 3,000 mol 3,000 0 0 o 0 0 0 3,000 o} 0 0
B30.6.22| & (EmPHE (68) 3,236 5d| 1,617 0 0 ¢ ) 0 0 0 1,617 0 0
H30.6.28] & [HU U (EA) ) 5, 644 sol 2,712 2,772 0 0 0 0 of - o 0 0 0
- B - i} -

H30.6.26) 10 [EEEEMEFAES (36-0116) SRS 5,856 25 1,464 ol 0 0 0 o 0 0 0 1,464 0
At 0] 42,580 21, 695 12, 300} 0 0 0 o o 3, 730 3,265 2,310 0
R 33.171| 260,405 146, 365 41,438 0 0 0 0 0 29, 450 8,471 66,005 0




(x4
= B Ok W
[EdHEXH]
ERRIVE 7 A5 L.LERA]
(B4 - M)
HARE xHE fEIRIRE (WLNARR)
#na |wpa IR - i AR | xdm RHTMR
&2 to%) mEwEk | SR s | smnEr | 2ANE | guepe | asuan | ssme | sex ABR -

H30. 2.2 1 [t (FAD 8.081| 5O 4, 495 4, .495 0 0 I 0 0 ¢ 0 0
Hi0 7.2 2?2 |=EAS 9,180 50 4, 595 0 0 0 0 0 0 4. 595 ol

H30. 7.2] 3 |irtw HERY GAM) 2,129] 504 1,064 0 0 0 0 0 0 1, 064 0

H3O. 7.2| 4 |#&BEERH A7) 7,821 25 1, 955 0 0 0 0| 0 0 1, 955 0

H30.7.2| b |BEERY (0796-36-255T) (SR %) 5.218] 501 2, 609 0 ] 0 0 0 0 2,600 0

HI.7Z. 10 — Il UAS SRS 91, 499 0 0 0 0 0 0 0 0 0

CNRUNNEETEY 0000 PR 1,154 50| 57 0 0 0 0 0 of 57 0
H30.7.12( 7 |dedfdnBl (8R4 3. 000 i 100 3, 000 0 0 0 0 3, 000 t] 1] o] |

| D —F LR
Hao.7.13| 8 (Ha0&4 6 F1) 8,400} 100] 8,400 0 0 0 0] 38,400 0 0 0l
[zmmes , ‘

HQ.7. 17 9 (ZOTgﬁF-iﬁﬁ%MZOIQ#ZGH%) 7,724 100 7,724 0 0 Y ¢ 7,124 0 0 01
H30.7.24] 10 [EEHE 7A) 3.862|- 501 1.931 0 0 0 0 0 1,931 0 ] |

H30.7.26) 11 |BEEmEME (0760-36-0116) (6A) B, 913| 25 1,478} . 0 0] 1] 0 0 M 1,478 0

[-iGO. 7.28| 12 |WmA&Em (6AS) 3,080 100 3,090 0 Q 0 0 3,090 0 0 0

A 2| 13 |ity FERY BES 2,129] 50| 1,064 0 0 0 0 0 O 1,064 0

HI0. 231 14 HEREEHLERAY GES) 7 6.4601 25 1,616 0 0 0 0 0 ol 1,615 0

H30.7.31) 10 |EsSEm# (0796-36-2607) (6A4Y) 3.878] 6O} 1,029 0 0 0 0 ¢ 0 1,939 0
Rl 01, 499| 78, 959 45,536 4,495 0 0| 22,214 1,931 16,896 0]
= 124, 670| 339, 364 191, 901] 45, 934 0 0] 51,664] 11,402| 82,901 UI




(it a) Q (,)
L .
= & & ¥
[BBAET%]
ZRNE 8BS [EERR]
(Hifsr - )
o EOE HRHEE (TR
#rE |%mm REDGHE - E wAM | T | BHATRR
il (56 wrmrm | mer | SR | nemes | ZO0Y | sersk | ®emAR | sEam | sER | AR
H30.8.1| 1 &Lﬁﬁﬁ{ﬁﬁzﬂggﬁ 8. gjgg g.288] 100 9. 288 0 0 0 0 0 9, 288 0 0 o
H0.8.3] 2 |FHvU o GER 16,600 B0 8. 250] 8,250 0 0 0 0 0 0 ] OI
w085 3 |kiidg (BE. sA9) 3.265|  50] 1.692 | 0 0 0 0 0 1,632 0 n‘
MEsiREs B8/6 &/ NICEHEMY |
30.8.5 s , : .
Hﬂ.llj, 4 JREE (BE~=%) 5,800 100f .ssoo 5. 800 0 0 0 0 i 0 0 0
H30.8.6] & |FEICESEAE (AHEs) 6.100| 100} 6, 100 6, 100 0 0 ] g ] 0 0 0
H0.8.6] & |LEEIEHE g.240] 100f] 8280 8.240 0 0 0 0 0 0 0 b |
kg6l 7 |ZBAL 130{  100] 1a0d 0 0 i 0 ] 130 0 0 of
IHBEES) RI0EE

HABI € | R (o M) 5,080 100f 5, 680] 5. 080 0 o 0 0 0 0 0 0
woeiof o |miswm N A5 rom| s  we 0 0 0 0 0 0 0 o6 0
Hi0.8.10] — |Ri&EYAE 21,665 ) nl 0 0 b 0 0 0 0 0 0
H30.8.21f 10 |$HAA{E (@150 % 6Ep) 000] 100 gool 0 0 ¢ 0 0 960 0 0 ]
Hao. a.zsh N | EEEE A 3,000 —IOOI 3.ooo| ¢ 0\ of- 0 0 3, 000 0 0 0
Ha0.8.27] 12 |MFEHRE TR 3.090 wol 3 osol 0 ol 0 0 0 3,090 0 0 0
H30.8.271 3 [EmEHE BR) 3, 482 Sﬂl 1,741 0 0 0 0 0 ¢ 1,741 o oI
Ha.B 271 14 \TEEELEFIM (36-0116) (TR 5, 881 zsl 1,470 0 0 0 0 9 0 0 1. 41 ol
H30. a.n(m 15 |FURILAASEBAR 14,004] 50 7,452 0 0 0 ] ¢ 0 0 7,452 0
H30.8.31F 16 |1 3w REEFIM (TR 2,120 50 1.oe4| 0 0 0 u” 0 0 0 1, 064 o]
H3e. 8.3t 17 |BERFEEEEAME (TAD) B.492| 25 1.623| 0 0 0 0 0 0 0 1,623 0




(iR 4)

U

= B Wk N ~
[BERmRER]
Tigtd0dE 8 B4 [LtERRA]
({7 ; M)
e RHE HREE (DN
80 |umm ENE - @ AR eI mas.gm;
=
g (%) EENTER | wER 2uR | rHTER §gﬁg wawam | wsman | wnms | weg At
H20.8.31] 13 |MEE{ERM (36-2557) (TH%H) 5.453F  s0f 2 726] 0 0 0 0 0 0 0 2,726 )|
IEEXREZRE: B48ER (i~ .
H30.7.a1 19 |7/6) ENIC{ESEEE 5.000f 100§ 5, 080 5, 080 0 0 0 0 0 0 of o
- JR¥E (ZE~EE)

Hao.:'.sl 20 | ERICHESE AR (Eiaa) 4,900 1(}01 4. 900] 4,900 0 0 0 o 0 0 )} ul
HBﬂ.Igl 2 | ERICERSARE (S~ {EAE) 1,000 100 1,000 1,000 0 0 o ] 0 i o o|
H30.7.7) 22 |LERI={RBERS (Blg) 8 100 100 5, 100] 5,100 0 8 0| 0 0 0 0 )

119 TR oA o s = fFm L L
H30.7.20] 23 |MSEEoSis) CR5EHANERN 1,600{ (00 1,600 0 1. 600| 0 0 0 0 0 0 0

- €eLT

H.7.23| 24 | ERRI<tRSaBETEE0HES 3.000{ 100§ 3. 0o00] 0 3,000 0 0 0 0 0 0 oi
Aax 21,698 122,337 89. 227 49,550 4,600 0 0 0 16, 408 3,373 15, 206 o|
RE 146,365 461,701 281. 128 95. 484 4,600 0 0 0 68, 072 14,775 86, 197 o|




(iRt 4) .
= B Ok %
[EREER]
R34 g A5 [LERA]
(B /)
U EHE EORE (FEHDAR
zAR |%mm ARt - wAg | zam EmawR
&E o) mETSk | Tan sl | manuw | EORN | s | kemak | sEmr | wae Aft S
HI0.0.3) 1 (UYL (kA 10,560 &0 b, 280 5, 280 0 0 0 0 0 0 ]|
¥ AL RR A (1/6--9/7) 1SS
Hio.0.50 2 |sEEE 2,500 100 2, 640 2, B30 0 0 0 0 0 0 of
JREH ME~=IF
035 3 |EL JRESSENS DR~ 650 100 650 850 0 0 0 0 0 0 0
Hin o5l 4 |RL BATHE~Z=E 280 100 280] 280 0 0 ol 0 0 0 0
H30.0.5 5 |RML EA¥% (GAes) 4,900 1ool 4, 900] 4, 900 o} 0 0 0 0 0 of
HI.9.6| 6 |FL =EX HTFE==~HHE 210 wol 210 210 0 0 0 0 0 0 o]
H30.9.7| T |E#RiRE (BE 3000 1oof 3. 000 0 0 0 ) 3,000 0 o )|
wo.0. 10 3 |EiEemH R 154 1, 1ig} 501 550] 0 0 0 0 0 0 559 ol
H30.9.10) — &L UAE 45, 536 o 0 0 ¢ 0 0 0 0
AfghEEEREM
H30. 9. 14| & (L3086 H ~ H31E58) 4,250 100 4,250 0 0 o 0 4,250 of 0 0
MEAREES (9/18) HFI=&kAEHA 4,900
190.9.17) 10 [ BErs s 4,900] 100] 4,600 , 0 0 0 0 0 0
oo s 1 |JEEAGEORRRRZ) WKCED s.20] 100  s200f 8240 0 0 0 0 0 0 0
Fepish oy
wo.9.26 12 JRL 4,900 1001 4,900 4,000 0 0 0 0 | 0 uL
H.9.21| 13 |FAF#B (BAS) 3,090 100 3, DHUL o| 0 0 0 3,080 0 0 of
Hib o8| 14 |HEEBS OA) 5182] 50 2, 591 ) 0 0 0 0 2,601 0 0




(A 4) , & 9

O
. [BEREER]
HEEWE 0 B4 ‘ LEEEA]
; (HAH7 . M)
HE w/AE L TERAE (FLDRR)
£nn |sxm RAESHRE - i wAE | s BB :
akd (%) WETRR | ok am | mecew | ZORT | pnpne | ki | semr | ossx AER
H3o.8. 26 15 TITEEEGRAR (36-0116) BA% 5,848 zsl 1,462 0 0 0 0 0 0 0 0 1,462 of
H30.5.21) 16 {SFRAM (@130x23E) (9718, §/21) 260 IOU! 260] 0 o| B 0 D 0 260 0 0 ol
ar 45.536| 50,978 a2.162]  31.950 0 0 0 0 of 10,600 2, 581 2,021 0
o 191.901] 821,679 326,200 127,434 0 4, 600 0 0 ol 7eem| 17.368] 100,218 0




(FiTHR 4)

. .
= E'I' *.E % - _
[BRRER]
T304 10A 4% [LERST]
(B [)
- - BHE ERRE (F DR
AR | ®ED AENGRE - §:8 WAM | THm Foamg —
= " (%) mawz | wem | sar | casem | ZERR | gnpow | owemax | serx | oser | oasw
o101l 1 |is8y HERHE (8A) 2128 so] 1064 0 0 0 0 0 0 1.064 0
Hao.10.1, 2 [HEFEFHAR GAD 7.786| 25 1,948 0 0 0 ¢ 0 0 1,946 ul
H0.10.1) 3 |[ESERERAR (36-2557) (8R4 s,879] so] 243 0 0 0 of 0 0 2,439 ol
s 1
¥0.10.2 - 4 k¥ (TR, $A) 3,266 aoi 1, 632 0 0 0 0 ol 16 0 o
K30 102l 5 |H VUL (EA) 20.130 sul 10, 065 10, 085 0 0 0 0 0 0 9|
-
Fiﬁl.?iﬁiﬁﬁﬁ%%t SF—) SH
C10/10, 10/11) ,
wo.10.2| 6 4 60, 000F 60.864] 100} 60,864 o] 60,864 9 0 0 0 0 0
- SR BE4FT . -
LRISE & REE L
H3D. "’f T |URES (B E SR~ S ) 9,030 100 9, 930] 0 9.932 0 0 0 0 0 b |
LiEDER
HOD10.8 B U TERAR (4 o~ Bk~ B ) 10,000 100 10,900 10, 90? 0 0 0 0 ] o}
Inao.m. igh- 0 |ERICERREAE 7.200] 100 7. 200 0 7.200 0 0 0 0 0 ul
|H30. wie o |ewesn (I e i 0 0 0 0 0 0 pto uI
Iﬂao_ 1.1 — |&wEYAE 89,227 ol 0 0 ] 0 o 0 0 ol
BH Yy —FILETH
. 10. 16]. ) ) ] ] 0 0 '
IH30 018l 10 T B g 20 g.400( 100 g 400‘ 8,400 0 0 0
THAMRL RS TEE
IH30.1DA2:'2" 12 J REE (B~ =2 5, 800 100 5, 600} 5, 602 0 0 /] i) 0 il i
Juec10.22] 12 E‘f Rl (=~ ) 5,00, 100]  s080] 5080 0 0 0 0 0 0 of
[0 1022 4 |EARRE (OB s.000] 00| 3000 0 0 0 0 3,000 0 0 0
|H30.10. Bl 15 EEREE 00 4,212 50' 2,106 0 0 ) 0 0 2,106 0 0
|H:m. 1225 16 |¥RE4E (@150 %88 12000 100] 1,200 0 0 0 0 1,200 0 0 0
|H:1t11l1 28 .17 |EEEAY (36-0115) (OHM) 5832 25 1,458 0 0 0 0 0 0 1,458 0




(R 4) . o
& B Bk &

[BEAREER]
FREI0E 105 4 LLHRA]

' (S : [)

E e UL HRE (O
A8 |%EE i - fik wrm | R i : :

*3 ) mEvwn | mex | smw | cecws | SURY | oeunen | e | suwme | osex | e
|iso1o.28f 18 F@FRHFER (8AN) 3,000 100] 3.090 0 0 0 0 0 0l 3,080 0 0 0
o 0.| 1p | (RECEBIERE, ECEOTER 5,080{ 100{ 5 080f 5 080 0 0 0 0 0 0 0 0 0
pocoml 20 | BE e chemm 5.600| 100] 5 600] 8, 600 of o 0 0 0 0 0 0 0
MiiAr ERE S D) HEICES L
jananat) 21 [EEE 2L —{t 680| 100] 680 §80 0 0 0 0 0 0 0 0 0

(RIF~ 2 Y oi—5)
IH3U-1U-31 22 | 148y MMERH GRS 2,129 501 1,064 0 0 0 0 0 0 0 of 1,064 OI
|H30. 0.31] 23 |BerEEERE (0R%) 6.603] 25] 1.625 0 0 0 0 0 0 0 0] 1,625 G!
IHau. 0.31] 24 |EEEAH (36-2550) (A 6,918f 50l 2 959 0 0 0 0 0 0 0 O 2,959 0
Ha0. 102 25 |#iBAfE (@130%288)  (10/2, 16/26) 2601 100 260 0 ¢ 0 0 0 Q 260 0 0 0
A 89, 227] 191, 292 154,054) 32,105| 88, 894 0 0 0] 15,0680} 3.738| 13.367
= 281,128) 1z, 9N 482, 344 159, 539| 88,894| 4,600 0 0] 94,622 21,104] 113,585




M

(Rt 4) ) ! -
= § Ok ¥
(amRER]
FRIE 1175 [ERRA]
(BifF M)
. Rk RHE WRAE (ELDHHE
zRa |%m2 RkHARE - i BAR | s BRSaR
Lk : (5) mamek | ok | ocmm | messr | ZERE O enmmn | andan | smwr | osmm | oaeR
1178 IIERECF/C 7] DEAOR
o102 1 |ZEHCF2HEHE (RR~RRE 35,320 100] 35.320 0 o a5, 320 0 0 0 0 0
)
Jreo 18] 2 ﬁ%gggf%;&;"ﬁﬁ 630| 100 630 0 0 630 0 0 0 0 0
Jre0. 1.9 3 R o ago| 100} 490 0 of 490 0 0 0 0 0
wo.11.80 4 | EE A 1,130 100 1,130} 0 o| 1.130 0 0 0 0 0
H0.11.8| — |&iRkEYAS 47.162 0 0 0 0 0 0 0 0 0
[2o.0107 5 (mmems G ©R 1,643 50| 821 0 0 0 0 0 0 821 0
11/13 T ILRSEREI A S R A
[reo.tt12] 6 |1 HEISES J REE (BE~HFAR 30,800] 100] 30,800 0 0| 30,800 0 0 0 0 0
)
[mo.viief 7 EREREE Y L ) 1.370[ 100} 1.370 0 o| 1,370 0 0 0 0 of
LRICEDS 0 o—f
HIO11. 18 8 | pncs e & ge.mrerem) 1,680 100] 1.690 0 o 1,690 ] 0 0 0 ol
woatis| 9 |zewea coAsm 3,000| 100] 3,000 0 0 0 o| 3000 0 0 of
w1120 10 [MEEEEE 0AH) 3.000{ 100] 3090 0 0 0 ol 3,090 0 0 |
Ho, 11, 22| 11 |EEHE (1A 5,086 50| 2543 0 0 0 0 of 2543 0 0
to.11.26) 12 |REEGERE (36-0116) (10F4) 5,840 25| 1,460 0 0 0 0 0 0 of 1,460 0
FEAERS) [REUSS UFCE
011211 13 éJR#&:{E{PJEMPUEE) 5, 730] 100y 5, 7301 5,730 0 0 0 0 0 0 0
10,1127 14 [11/28 TGRSR BEITHRBMHE 4.900| 100] 4.000| 4.900 0 0 0 0 0 0 0
wons| 15 [LRIROREE 5,080 100] 5,080 5,080 0 0 0 0 0 0 q




GRAEER 4) ’ O _ ‘)
& B B
[BRRER]
FRIE 11AS : [LHEA]
(Bifi7 . [H)
- #5E BAME GEADMED
zga |#mw Riksvimgs wal | e i
5 o maome | wer | osmm | cesew | ZRER | popap | pums | sk | sE AHR
Poea0] 16 |i 8w FEEY (1084) 2,129 501 1.064 0 0 0 0 0 0 0 0] 1,064 0
|H30-”-331 17 | mL (10R5) 6,460 25 1,615 0 0 0 0 0 0 0 Y] 1,615 0
Jpeo. .30 18 |EEE{MEAIE (36-2557) (10A4) ) 5,758 650f 2, 879L 0 0 0 0 0 0 0 0] 2,879 0
H30. 11 1] 19 |97RA4E (e(30%38) 11/1. 11728, 11/29 3801 100) 3901 0 ] 0 0 ] 0 350 0f 0 0
of 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 0
AM 47,162] 120, 536 104, 002] 15,710 0 0 0] 71,430 0 6, 480 2, 543 7,839
RM 328, 290] 833, 507 bBG, 3461 175, 249 88, 804 4, 600 0] 71.430 0] 101,102 23,647 121,424




(HfthRzt 4)

= B KR @
(BHEER]
ERLIOE 1284 [LEBEAN]
(e [)
e | e EANE (FELOBIHD)
2R |=em RENGHE - S wam | wmm ol -
&5 (%) - | mEwER | @ux st | mammk | RS | owuemk | wemas | oswme | osmw AR
H30.12.21 1 |4 (08, 10A4) 3,296 50I 1, 648 0 0 0 0 0 0 0 1, 648 0 0
H30.12.3] 2 [HY 2% (FRA) 9.61{1 50| 4, 807 4, 807 0 0 0 0 0 0 0 0 0
wo.rziol 3 |EBEsms D (085 1,516) so| 759 0 0 0 0 0 0 0 0 759 0
H20. 1210 — |&iREY AR 154, 054 0 0 -0 0 0 0 0 0 0 ; 0
H30.12.11] 4 [&fAfE (@150 x43R) 600 100 600 0 ] 0 0 0 0 600 0 0 OI
H3o.12.17( 5 |ES%mE (1A 3,000] 100 3. 000 0 0 0 0 0 0 3, 000 0 0 Ol
IH30.12.24 6 |#AHE (11EMS 3,000 100] 3,090 ] 0 0 0 ] 0 3,080 0 0 0
IH36.12.25 T |BE#E (128) 7,661 50} 3, 830“ 0 0 0 0 .0 0 0 3.830 0 0}
|H30.12.25 8 |4rimft (12A4M) 3,204 50 1, 647 ¢ 0 0 0 0 0 0 1, 647 0 0
|H30.12. 28| 9 [BIEEREM (36-0116) (118D 5,824] 25| 1,456 0 0 0 0 0 0 0 O 1,456 0
; REMEH HET—4 108, 000M ,
IH30.12.20 10 FAH 864m 108, 864 QDL 97,977 0 0 0| 97 977 0 0 0 0 0 0
&%Ei&%#ﬁ%ﬁg(]’gﬁoaﬁ)
EnmIfL 119, A
3012271 11 FRME AN 50, 820 184, 256| 90] 165, 830 0 0 0| 165, 830 0 0 0 0 0 0
HEW O13,649M™

H30.12.7[ 12 |&RAE (@130x338) 12/7. 12/14,12/18 380( 100§ 350 0 0 0 0 0 0 390 0 0 0
0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 ¢ 0 0 0 0, i} 8
0 0 0 0 0 0 0 0 0 0 0
BEt 154, 054] 331, 408 285,034 4,807 0 01 263, 807 0 0 1,080 7.125 2,215 OI
F5t 482, 3441, 164,915 1 871, 3801 180,056| 88,894 4, 600} 263,807 71,430 0| 108,182} 30,772| 123,639 OI
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il (%) prenk | s | amx | cesew | SP0E | aneen | sewar | saer | sex AR

IH31. 1.4 1 [AVULHREN 24,8131 50)] 12, 406] 12,406 0 0 0 0 0 0 0 0 0
IH31. 1.4 2 |iSv FERY (A © 02,1291 501 1,064 0 0 0 0 0 0 0 0 1,064 0
I|.'|31. 1.4 3 |[EHEFEAY A 6,525 25 1, 631 0 0 0 0 0 0 0 0 1,631 .0
IHST. 1.4 4 |EEEHEHPH (36-2557) (1A 4,677 50 2,338 0 ] 0 0 ] 0 0 0 2,338 0

1/8 TRSRBBHEAR! HEICES ' -
[H31.1.7] 5 & Rﬁﬁn(§ﬁ~5"é‘?) 5,7301 100 5,730 5.730 ¢ 0 0 0 0 0 0 0 ol

1711 TEERBHAES] HEIZES
11131. 1.71 6 JRES (ZE~EE) ) 5,730] 100 5, 730 5,730 0 ] 0 0 0 0 0 0 ol
|H31.1.8 T | ERIZFEDBHE (/81887 ) 4,900 100 4, 90{.‘!L 4,900 0 0 0 0 0 07 0 0 0
|H31. 1.8] 8 |ERIzEAEHE (1/9,1/108:89) 16, 480] 100 16..480] 16,480 0 0 ¢ 0 0 0 0 0 0
Har.110] 9 |EEwEs R (155 1,261 50 630| 0 0 0 0 0 0 0 0 630 0
H3L 111 - [&R&EYASE 11AS 104, 002 ]| 0 _ 0 0 .0 0 ] 0 0 0 07

1/16 TRBEES) HEICEDI IRYESE ’ :
H31.1.15( 10 (B~E~=E £ 11,460 100] 11.460] 11,460 0 0 0 0 0 0 0 0 0
a1, 116} 11 | TR eIkl BRERR (HI0I0R 8,400| 100] 8400 0 0 0 of. o 0| 8,400 0 0 0
H31.1.16f 12 |E&HmR (12A4) 3,000 1001 3, 000 0 0 0] 0 0 0 3, 000 0 0 0
H31.1.21| 13 |#FHM (1284 3,080] 1000 3,090 0 0 0 0 0 0 3, 090 0 0 0
H3t 1. 21 14 | A#R 19,980] 1001 19,980 0 ] 0 0 0 0] 19,980 0 0 OL
H31.1.28| 15 |B&HE 0A) 8.520| &0 4,260 0] 0 0 0 0 0 0 4,260 - 0 1]
H31.1.28] 16 |REEMMH (36-0116) (12A4) 5020 25 1,480I 0 0 0 0 0 0 0 0] 1,480 0
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i ' (%) mEGER | wER | emm | memem | SUCT | wapwk | kewan | oseer | osmm | s
R 5 000 x5/ 124 A =22, 500 '
= 94, X =iz, A :
H31.1.30] 17 (2019/1 5 ~5 84 23,364} 100§ 23, 364 0] 23,364 0 0 0 0 0 0 0 0
wmiA¥ 864/

H31.1.31) 18 |fTaet (1B %) 5 657] 50| 2, 828 0 0 0 0 0 0 0| 2828 0 0
H31.1.31[ 19 /8w MMERAY (12A53) 2,128 501 1,064 0 0 0 0 0 0 0 0] 1.064 0
H31.1.31) 20 [HWEEEMAM (12R5) 6,025 25F 1,631 0 0 0 0 0 0 0 of 1,63 0
H31.1.31( 21 |BEEGEMH (36-2557) (12R%3) 4,894 50] 2 447 0 0 0 0 0 0 0 O 2447 0
H31.1.31] - [&ikREYAE (2A% 285, 034 0 0 0 0 0 of 0 0 0 0 of
|H31.1.9] 22 |@mmAE (@130x28F) 1/9.1/18 260| 100 260 0 0 0 0 0 0 260 0 0 OI
A&t 389, 036 175, 444 134, 173] 56,706 23,364 0 0 0 0f 34,730 7,088 12,285 OI
Rt 871, 380[1, 340, 359 1,005, 553) 236, 762| 112,258] 4, 600| 263,807 71,430 Of 142,912 37,860| 135, 924 OI
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£AE |TmE RESHRE - G WA | EmE e
il (%) BEGRR | THR s | camwr | SORE | owpam | kuwan | saEr | sex ABR
HILZ2] 1 [kE¥E (HOENA. 12A4) 3,296 50 1, 648] 0 0 0 o 0 0 ] 1,648 0 0
H31.2.4f 2 |HVULAE (FAN) 8,263 50 4,131 413 ¢ 0 0 0 0 ¢ 0 0 ol
i (2/7) $BEAELOFAERLHKIZER
H31.2.6| 3 |BEEE 11,460 100 11,460] 11,460 0 0 0 0 0 0 0 0 0
R E (F~ B~ =)
(2/8) T®EH#ES THRADER]
.2, , 100] 4,900 4, 900 0 0
H3.2.7] 4 Rr S s 4,900 | 0 0 0 0 0 0 ol
w1.2.12] 5 |ESEHEEY - (12A5) 1,280 sol 60| 0 0 0 0 o 0 0 0 640 ol
Hat.z21l & |E&EM (1A 3,000 1ool 3. aoo] 0 0 i o| 0 0 3,000 0 0 7 oI
H31.2.20] 1 |MFEEHM (1H4) 3,000 wol 3,000 0 0 ) 0 o 0 3, 080 0 o ol
H31.2.26| & |MEEEMSAH (36-0116) (1AH) 5,806 25 1.474 0 0 0 0 0 o 0 0 1,474 |
H1.227 9 |#EAS 9,169] 50 4,584 0 0 0 0 0 0 0 0 4,584 o
H3t.2, 28| 10 |HEit @150x 230 300] 100 300 0 0 0 0 0 0 300 0 6 ol
H31. 2. 2e| 1 |EEf @150x 858 1,200 100} I.200| 0 0 0 0 0 0 1,200 0 0 ul
H3. 2. 23' - |®R&YAE 134,173 ol 0 0 0 o 0 0 0 0 0 ol
H31.2.28| 12 |$ToRE (2R 5,508 sol 2, 799' 0 0 0 0 0 0 0 2.799 0 ol
H3.2.28] 13 |isAw HERM B 2,129 sol 1,064 0 0 0 0 0 0 0 0 1,064 nl
H3.2.28| 14 |MEEESEGEAM (AM 6,665] 25 1. 666} 0 0 0 0 0 0 0 0 1.666 o!
Hi.2.28] 15 |EESEAIM (36-2057) 1H4% 4,631 50} 2, 315 o 0 ¢ 0 ¢ 0 0 0 2,315 ot
Mt @130x4%8

Hat.2.8 16 | 78, 2/13,2/19, 2/25) 520 ’°°1 520 0 0 0 0 0 o 520 0 0 0

A& 134, 1713 1,397 44, 791 20, 491 0 0 0 \] 0 8 110 4,447 11, 743 OI

nH 1.005,553] 1,411, 756 1.050,3¢4]  257.253| 112,258 4,800] 263,807 71,430 o 151,022 42,307 147.667 o|
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i ) BEGER | FER zun | tanen 5253 xneRR | memAr | smmm | wEn ABR
H31.3.4] 1 (HVYLHE (FRA) 9,828 5o| 4,914 4,914 0 i} 0 0 0 0 0 0 ol
wsun 2 |msEm (R A5 1,253 5o| 626 0 0 0 0 0 ] 0 i} 626 ol
H31.3.14| 3 |EE&RERBA (284 3,000 mol 3. 000] 0 0 0 0 0 ¢ 3,000 0 0 ol
3I/13®EL .
H31.3.18| 4 3/14 TEEBHRERERE) HEIC 8,240 100} 8, 240 8, 240 0 ] 0 o 0 0 0 0 o
®AHRAE
H31.31.18] 5 |$#ERA{E (@150 8&D) 1,200 wol 1, 200 0 o o 0 0 0 1,200 0 0 o]
H31.31.20] 6 [®AFE&HM (2A%) 3,090 1oo| 3,000 0 0 0 0 0 0 3.090 0 0 . ol
H3t.3.24] 7 [V Y248 (BN 1,642 50' 821 821 0 0 0 0 0 0 0 0 ol
H31.3.26] 8 |MESRMGAHE (36-0116) 2A 4 5,880 25 1,470 0 0 0 0 0 0 0 -0 1,470 of
H31.3.28] 9 4Tt (3A4H) 1,847 50 923 ] ] 0 0 ] 0 0 923 0 0
ar—H&
H31.3.30| 10 (H304E4F 1 H ~H31 3 A 308) 57,301 50 78. ssoL o o 0 9 0 0 0 0 28, 650 0
H31.3.18] 11 (HEMA{E (@130 32E) 3/11, 3/13, 3/18 3go| 100 390I 0 0 0 0 o] - o 390 0 0 oi
kL U AR 44,791 ol ) 0 0 o 0 0 0 0 0 ul
£y (EU I 53,324 ul 0 0 0 0 0 of 0 0 0 0
Akt 98,115 93, 671 53, 324| 13,975 0 0 0 0 0 7,680 928 30, 146 0
23 1,103, 668| 1,505. 427 1.103.aea| 271,228] 112,258 4,600) 263,807 71, 430 ol 188,702 43,230 178,413 0




